
Vivian Choong
640 : 437--01

Homework 7

(1) One coin worth 19 dollars
,
another coin worth 14 dollars .

Want to pay for a dollar coffee .

Pay with 3 $19 coins (total of 57 dollars ) . Sime the coffee costs

1 dollar, you get change of 4 $14 coins (56 dollars) .

(2) one coin worth 109 dollars
,
other worth 95 dollars. Pay for Cup of coffee that

costs 1 dollar.

god (10%95)=1
(09--9511)-1-14

95 = 14 (6) 1- 11

14 = 11 (1) + 3

11 = 3 (3) t 2
3 = 2 (1) -1 I

1=3 -2 (1)

1=(14-11) - (11-313) )
1=(109-95-(95-6114))) - 11+313)
1=109-95-95+6 ((09-95)-95+6 (109-95)*3409-95 - (95-6114)))
(= 7-(1093-8195) -95 +6409) - 6(95) +3 ((Oa) - 3195) - 31955+181109-951
f- 7- ((095-8195)-95+61109) - 61951+3409) - 3 (951-365)-(184093-18195)
f- 341109) - 391951

You can pay in 34 $109 coins and oeciene 3-9 $95 coins back .

137 37 kg and 16 kg .

gcd (37,161=1
37=16 (2)+ 5

16=5 (3) + I

1=16 - 3 (5)
1=16 - 3C 37 - 246 ) )
1=16 - 3 (37) -16116)
( = 7- ( 16 ) - 3 (37)
You would put 7 16kg weights on one side and 337 weights on the
other side to weigh out 1 kg of coffee .


